
 

 

Yellow E 
1) 

 

 

4815 ÷ 3 

2) 

 

 

32.4 x 1000 

3) 

 

 

Work out 8 x 467 

4) 

 

 

What is 7 lots of 27 plus 3 lots of 27 

5) 

 

 

On a school trip, at least one teacher is needed for every 7 students. If 

4 teachers go, what is the maximum number of students that can go? 

 

 

6) 

 

 

A news presenter arrives at the studio at 4:12pm. He will present the 

news in 2 hours and 13 minutes time. What time will this be? 

 

 

7) 

 

 

Gordon had 0.24 grams of pepper. Then he used 0.08 grams of the 

pepper to make some scrambled eggs. How much pepper does Gordon 

have left? 

 

 

8) 

 

 

A solicitor starts a meeting at 3:40pm. The meeting runs up to the next 

hour. The solicitor gets paid £4 per minute. Half of his earnings get paid 

as tax. How much tax does he pay? 
 

 


